


Simultaneous 3 
Q.1

Given 

𝑦 = 2𝑥 → (𝑖) 

𝑦 = 𝑥 + 10 → (𝑖𝑖) 

We take the equation and substitute 2x for y 

2𝑥 = 𝑥 + 10 

𝑥 = 10 put in (ii) 

𝑦 = 10 + 10 

𝑦 = 20 

So, 

𝑠. 𝑠 = {10,20} 

Q.2

As 

5𝑥 − 2𝑦 = 31 → (𝑖) 

4𝑥 + 3𝑦 = 11 → (𝑖𝑖) 

(𝑖) × 3 

(𝑖𝑖) × 2 

15𝑥 − 6𝑦 = 93 

8𝑥 + 6𝑦 = 22 

Adding Both equation 

23𝑥 = 115 

𝑥 = 5 put in (ii) 

20 + 3𝑦 = 11 

3𝑦 = −9 

𝑦 = −3 

So, the solution is x = 5 , y = - 3 
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Q.3 

As 

     7𝑥 − 2𝑦 = 45 → (𝑖) 

     5𝑥 + 𝑦 = 37 → (𝑖𝑖) 

  (𝑖𝑖) × 2 

     10𝑥 + 2𝑦 = 74 → (𝑖𝑖𝑖) 

  Adding (i) and (iii) 

     7𝑥 − 2𝑦 = 45 

     10𝑥 + 2𝑦 = 74 

   ⟹  17𝑥 = 119 

     𝑥 = 7 

     Put in (ii) 

     5(7) + 𝑦 = 37 

     𝑦 = 37 − 35 

     𝑦 = 2 

  Hence, 

     𝑠. 𝑠 = {𝑥 = 7, 𝑦 = 2} 

 

 

 

Q.4 

  Let   𝑥 − 2𝑦 = 8 → (𝑖) 

     2𝑥 + 𝑦 = 5 → (𝑖𝑖) 

  (𝑖𝑖) × 2 

     4𝑥 + 2𝑦 = 10 → (𝑖𝑖𝑖) 

  Adding (i) and (iii) 

     5𝑥 = 18 

     𝑥 =
18

5
 put in (ii) 

     2 (
18

5
) + 𝑦 = 5 

     𝑦 = 5 −
36

5
 

     𝑦 =
25−36

5
 

     𝑦 =
−11

5
 

  Hence, 

     𝑠. 𝑠 = {
18

5
,

−11

5
} 
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Q.5

𝑥 + 2𝑦 = −4 → (𝑖) 

2𝑥 + 5𝑦 = 1 → (𝑖𝑖) 

(𝑖) × 2 

2𝑥 + 4𝑦 = −8 → (𝑖𝑖𝑖) 

Sub (ii) and (iii) 

2𝑥 + 5𝑦 = 1 

−(2𝑥 + 4𝑦 = −8) 

𝑦 = 9 

Put in (i) 

𝑥 + 2(9) = −4 

𝑥 + 18 = −4 

𝑥 = −4 − 18 

𝑥 = −22 

So, 

𝑠. 𝑠 = {−22,9} 

Q.6

Let 2𝑥 + 𝑦 = 5 → (𝑖) 

𝑥 + 3𝑦 = 5 → (𝑖𝑖) 

(𝑖) × 3, 𝑤𝑒 ℎ𝑎𝑣𝑒 

6𝑥 + 3𝑦 = 15 → (𝑖𝑖𝑖) 

Sub (ii) and (iii) 

−5𝑥 = −10 

𝑥 = 2  Put in (ii) 

2 + 3𝑦 = 5 

𝑦 = 1 

So, 

𝑠. 𝑠 = {2,1} 
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Q.7

Let 3𝑥 + 𝑦 = 18 → (𝑖) 

4𝑥 + 2𝑦 = 21 → (𝑖𝑖) 

(𝑖) × 2 

6𝑥 + 2𝑦 = 36 

Subtract (ii) and (iii), we get 

⟹ −2𝑥 = −15 

⟹ 𝑥 =
15

2

⟹ 𝑥 = 7.5 

Substitute 𝑥 = 7.5 in (i) 

3(7.5) + 𝑦 = 18 

𝑦 = −45 

Hence 

𝑠. 𝑠 = {7,5, −4.5} 

Q.8

As 

𝑥 + 𝑦 = 7 → (𝑖) 

𝑥 + 2𝑦 = 11 → (𝑖𝑖) 

Subtract (i) and (ii), we get 

⟹ −𝑦 = −4 

⟹ 𝑦 = 4 

Put in (i) 

⟹ 𝑥 + 4 = 7 

⟹ 𝑥 = 7 − 4 

⟹ 𝑥 = 3 

Hence, 

𝑠. 𝑠 = {3,4} 
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